112 £ F > A EREHL 2RR2 =

=> R3

#1: 3 F&(148.35) #2: 5 ﬁETﬁlﬁlﬁ(MS 44) #3: 6 F1E(141.81)

1 NS: Pdst $8{-58GH0) 8 4 NS: Hiinss FEER(BAC) - 11 16.68 : 3.32 | Total VP: 119.59 Rank:
EW: MiEIEY FiksfEEAC) 17 EW: ##53H IR E)(BAO) -8| IMP:| 23 : 2 6
S
# 17 » K96 2HE-2 100 Mean: 3HW-2 100 3.0 1 [|#18 s 186 3SS3 140 Mean: 3SS3 140 60 2
v A97 3DN-1-50 10  3HE-2 100 3.0 1 v 94 4SS-2-200 90  3SS-1 4100 00 3
+ AKJ75 Dif: 150 NS:3 3CS4 130 3.0 1 + Q7643 Dif: 340 NS:6 3CE4 430 1.0 1
» Q8 IMP: 4 EW:2 2HE-2 100 3.0 1 % Q53 IMP: 8 EW:3 4SS-2 200 -30 2
4 J3 s AT72 3HW-1 50 1.0 1 ||a A543 »2 3DN-2 200 -3.0 1
v T543 v KQ86 2HW-1 50 1.0 1 ||e QT862 I v J5 2NN-2 200 -3.0 1
+ Q6432 8 3DN-1 50 20 1||e A9 ¢ KT85
& K3 & A764 2HW2 110 3.0 3 ||a 97 &» KJT842
VBN 4 Q854 %o VABN 4 KQJI7
N 11~11 9J2 N ~~~2~ 9 AK73
S 11~11 +T9 S ~~~2~ ¢J2
E ~~2~~ &JT952 E 3~1~~ &A6
W ~~2~~ W 3~1~~
#19 » AT54 3HE3 -140 Mean: 5DXN5 550 11.0 1 ||# 20 a6 3SW4 -170 Mean: 3SW4 4170 6.0 3
v K87 3NN-2-100 20  3DN5 150 50 1 v AJ98 4SW4 620 -390 2SW4 470 6.0 2
+ KJ653 Dif: -40 NsS:-3 3DS3 110 40 1 « AKT76 Dif: 450 NS:6 4SW4 620 -60 5
a5 IMP: -1 EW:2 3NN-2 4100 20 2 & QJ5 IMP: 10 EW:6
» K9876 a J2 3HE3 140 3.0 1 » AKS8432 & QT9
v JT953 v A42 3NN-3 450 -40 2 ||e K743 + v Q
* ¢ QT92 3NS-4 200 -50 2 ||e Q3 ¢ J42
& KT7 & QJ92 a6 & A98732
*e¢VAN Q3 ¢ VAN oJ75
N ~4~~~vQ6 N ~11~~ ¢T652
S ~4 ~~~ ¢ A874 S ~11~~ ¢985
E ~~1~~ &A8643 E 1~~42 &KT4
W ~~2~~ W 1~~42
# 21 » AQ9 4CN4 130 Mean: 5CN5 600 10.0 1 ||# 22 4 K8532 4SS4 420 Mean: 3NS6 490 3.0 1
v 743 4CN4130 170  3HE-4 200 10 2 v AT7 4SS5450 390 4SS5 450 20 5
¢ 52 Dif: 0 NS:-1 4CN4 130 1.0 3 . Dif: -30 NS:1  4SN5 450 20 1
» AQJ97 IMP: 0 EW:1 3HE-3 150 1.0 1 » QT974 IMP: -1 EW:-2 4SS4 420 1.0 2
o K874 s J5 2sS3 140 1.0 1 ||a AQ7 » 96 4sS-1 50 100 1
v T965 v AQJ82 2HE-3 150 1.0 1 v 96 — v QJ843
+ Q93 ¢ J64 5CN-1 100  -7.0 1 ||e J532 ¢ QT976
& K2 » T85 » J863 » K
o VBN 4, T632 PO VAN ,JT4
N 45~42 K N 5~~55 y K52
S 45~ 42 ¢ AKT87 S 5~~55 ¢ AK84
E ~~~~~ & 643 E ~~~~~ & A52
W~~~~~ W ~~~~~
# 23 »QJ 4SE4 -620 Mean: 4SE4 620 1.0 3 ||# 24 » AKJ72 5CN6 420 Mean: 6CN6 920 80 4
v KJ652 4SE5 -650 -640  4SE5 650 00 5 v 2 5CN6 420 590 5CN6 420 50 4
+ Q9 Dif: 30 NS:1  4SE6 680 1.0 2 *8 Dif: 0 NS:-5 3NS3 400 50 1
& AQJ9 IMP: 1 EW:0 & AKQT73 IMP: 0 EW:5 1SN5 200 9.0 1
» 82 & AKT9754 » Q86 » 954
v QT983 + v A4 v KQ65 v AT43
¢ AK73 o T ¢ KQ974 ¢ T52
& K8 S & T65 a4 » 982
o ¢VABN 463 o OVABN 4T3
N11~~~ @7 N 6~~64 »J987
S 11~~~ ¢J86542 S 6~~64 ¢ AJ63
E ~~253 #7432 E ~1~~~ &J65
W ~~255 W ~1~~~




: ®RR2 = 3
3 1125 Z 2 MIBELFEHL =RR2 ==> R 3
#1: 3 Fi&(148.35) #2: 5 ﬂlﬁ’rﬁlﬁlﬁ(lﬁ 44) #3: 6 F=HE(141.81)
2 NS: BEESF PRIEFEFH0) -8 6 NS: B2 HiBS(FC) -17 P:| 11.67 : 8.33 | Total VP: 102.88 Rank:
EW: &= B EEI0) 17 EW: ¥ 518 #M7Z(BA0) 8 IMP:| 8 4 8
S
# 17 » K96 2HW2 -110 Mean: 3HW-2 100 3.0 1 # 18 s 186 2NN-2 -200 Mean: 3SS3 140 60 2
v A97 2HW2 -110 10  3HE-2 100 3.0 1 v 94 3CE4-130 90  3SS-1 400 0.0 3
+ AKJ75 Dif: 0 NS:-3 3CS4 130 3.0 1 + Q7643 Dif: -70 NS:-3 3CE4 430 1.0 1
» Q8 IMP: 0 EW:3 2HE-2 100 3.0 1 * Q53 IMP: -2 EW:1 4SS-2 200 3.0 2
4 J3 s AT72 3HW-1 50 1.0 1 || A543 »2 3DN-2 200 3.0 1
v T543 v KQ86 2HW-1 50 1.0 1 ||v QT862 I v J5 2NN-2 200 3.0 1
+ Q6432 *8 3DN-1 50 20 1||e A9 + KT85
& K3 & A764 2HW2 110 3.0 3 ||a 97 &» KJT842
VBN 4 Q854 %o VABN 4 KQJI7
N11~11 vJ2 N ~~~2~ v AK73
S 11~11 ¢T9 S ~~~2~ ¢J2
E ~~2~~ &JT952 E 3~1~~ &A6
W~~2~~ W 3~1~-~
#19 » AT54 3NS-4-200 Mean: 5DXN5 550 11.0 1 ||# 20 a6 4SW4 -620 Mean: 3SW4 470 6.0 3
v K87 3NS-4-200 -20  3DN5 150 5.0 1 v AJ98 4SW4 620 -390 2SW4 470 6.0 2
+ KJ653 Dif: 0 NS:-5 3DS3 110 40 1 « AKT76 Dif: 0 NS:-6 4SW4 620 -60 5
a5 IMP: 0 EW:5 3NN-2 400 20 2 & QJ5 IMP: 0 EW:6
» K9876 a J2 3HE3 140 3.0 1 » AKS8432 & QT9
v JT953 v A42 3NN-3 450 -40 2 ||e K743 + v Q
* ¢ QT92 3NS-4 200 -50 2 ¢ Q3 ¢ J42
& KT7 & QJ92 a6 & A98732
F*e¢VAN Q3 ooV ABN o, J75
N ~4~~~vQ6 N ~11~~ ¢T652
S ~4 ~~~ ¢ A874 S ~11~~ ¢985
E ~~1~~ &A8643 E 1~~42 &KT4
W ~~2~~ W 1~~42
# 21 » AQ9 2SS3 140 Mean: 5CN5 600 10.0 1 # 22 4 K8532 4SN5 450 Mean: 3NS6 490 3.0 1
v 743 3HE-4200 170  3HE-4 200 10 2 v AT7 4SS5450 390 4SS5 450 20 5
¢ 52 Dif: -60 NS:-1 4CN4 130 1.0 3 . Dif: 0 NS:2 4SN5 450 20 1
» AQJ97 IMP: -2 EW:-1 3HE-3 150 1.0 1 » QT974 IMP: 0 EW:-2 4SS4 420 10 2
& K874 s J5 2sS3 140 1.0 1 ||a AQ7 # 96 4sS-1 50 -10.0 1
v T965 v AQJ82 2HE-3 150 1.0 1 v 96 — v QJ843
+ Q93 ¢ J64 5CN-1 100  -7.0 1 ||e J532 ¢ QT976
& K2 » T85 » J863 » K
o VBN 4, T632 PO VAN ,JT4
N 45~42 oK N 5~~55 vK52
S 45~42 ¢AKT87 S 5~~55 ¢ AK84
E ~~~~~ & 643 E ~~~~~ & A52
W~~~~~ W ~~~~~
# 23 »QJ 4SE5 -650 Mean: 4SE4 620 1.0 3 ||# 24 » AKJ72 6CN6 920 Mean: 6CN6 920 80 4
vKJ652 4SE5 -650 -640  4SE5 650 0.0 5 v?2 5CN6 420 590 5CN6 420 50 4
+ Q9 Dif: 0 NS:0 4SE6 680 1.0 2 .8 Dif: 500 NS:8 3NS3 400 50 1
& AQJ9 IMP: 0 EW:0 & AKQT73 IMP: 11 EW:5 1SN5 200 9.0 1
» 82 & AKT9754 » Q86 » 954
v QT983 + v A4 v KQ65 v AT43
¢ AK73 o T ¢ KQ974 ¢ T52
& K8 S & T65 a4 & 982
o ¢VABN 463 oI VAN 4T3 COP: -3.3
N 11~~~ 7 N 6~~64 v J987
S 11~~~ ¢J86542 S 6~~64 ¢ AJ63
E ~~253 #7432 E ~1~~~ &J65
W ~~255 W ~1~~~
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#1: 3 F&(148.35) #2: 5 ﬁETﬁlﬁlﬁ(MS 44) #3: 6 F1E(141.81)

3 NS: FENER #% 5#(BH0) 6 8 eI CORE 1439 : 561 | Total VP:| 148.35 Rank:
EW: BESF B 2 EEHO) 13 EW: #Rt5R REH(BI0) -6 IMP:| 28 16 1
- S
# 17 » K96 3HW-1 50 Mean: 3HW-2 100 3.0 1 # 18 s T86 4SS-2 -200 Mean: 3SS3 140 6.0 2
v A97 3HE-2 100 10 3HE-2 100 3.0 1 v 94 3SS-1-100 -90 3881 -100 0.0 3
¢ AKJ75 Dif: -50 NsS:1 3Cs4 130 3.0 1 ¢ Q7643 Dif: -100 NS:-3 3CE4 -130 -1.0 1
& Q8 IMP: -2 EW:-3 2HE-2 100 3.0 1 & Q53 IMP: -3 EW:0 4SS-2 -200 3.0 2
s J3 & AT72 3HW-1 50 1.0 1 & A543 a2 3DN-2 -200 -3.0 1
v T543 v KQ86 2HW-1 50 1.0 1 v QT862 I v J5 2NN-2 -200 3.0 1
+ Q6432 + 8 3DN-1 -50 20 1 ¢ A9 ¢ KT85
* K3 » A764 2HW2 410 30 3 ||a 097 » KJT842
&oVON 4 Q854 %oV AN 4 KQJI7
N11~11 vJ2 N ~~~2~ v AK73
S 11~11 #T9 S ~~~2~ ¢J2
E ~~2~~ &JT952 E 3~1~~ &A6
W~~2~~ W 3~1~~
# 19 a AT54 3DS3 110 Mean: 5DXN5 550 11.0 1 # 20 a6 2SW4 -170 Mean: 3SW4 -170 6.0 3
v K87 3NN-2 -100 -20 3DN5 150 5.0 1 v AJ98 4SW4 -620 -390 2SW4 -170 6.0 2
+ KJ653 Dif: 210 NS:4 3DS3 110 4.0 1 ¢ AKT76 Dif: 450 NS:6 4SW4 -620 60 5
»5 IMP: 5 EW:2 3NN-2 -100 -2.0 2 & QJ5 IMP: 10 EW:6
» K9876 aJ2 3HE3 440 3.0 1 ||a AK8432 A QT9
v JT953 v A42 3NN-3 -150 -40 2 v K743 + v Q
. + QT92 3NS-4 200 50 2||e Q3 * Ja2
* KT7 & QJ92 a6 & A98732
&eVAN ,Q3 SOVAN oJ75
N ~4~~~vQ6 N ~11~~ ¢T652
S ~ 4~~~ ¢ A874 S ~11~~ 4985
E ~~1~~ &A8643 E 1~~42 aKT4
W-~~2~-~ W 1~~42
# 21 4 AQ9 3HE-3 150 Mean: 5CN5 600 100 1 # 22 4 K8532 4SS-1 -50 Mean: 3NS6 490 30 1
v 743 2HE-3 150 170 3HE-4 200 1.0 2 v AT7 4SS5 450 390 4SS5 450 2.0 5
* 52 Dif: 0 NS:-1 4CN4 130 -1.0 3 * Dif: -500 NS:-10 4SN5 450 2.0 1
» AQJ97 IMP: 0 EW:1 3HE-3 150 1.0 1 & QT974 IMP: -11 EW:-2 4SS4 420 1.0 2
& K874 s J5 2SS3 140 -1.0 1 » AQ7 s 96 4SS-1 -50 -10.0 1
v T965 v AQJ82 2HE-3 15 1.0 1 ||v 96 — v QJ843
+ Q93 ¢ J64 5CN-1 100 -7.0 1 |]|e J532 + QT976
& K2 & T85 & J863 & K
*oVAN 4T632 SOVAN o JT4
N 45~42 vK N 5~~55 v K52
S 45~42 ¢AKT87 S 5~~55 ¢ AK84
E ~~~~~ & 643 E ~~~~~ & A52
W~~~~~ W~~~ ~~
# 23 QJ 4SE4 -620 Mean: 4SE4 -620 1.0 3 # 24 » AKJ72 6CN6 920 Mean: 6CN6 920 8.0 4
v KJ652 4SE5 -650 -640 4SE5 -650 0.0 5 v 2 1SN5 200 590 5CN6 420 50 4
+ Q9 Dif: 30 NS:1 4SE6 -680 1.0 2 ¢+ 8 Dif: 720 NS:8 3NS3 400 5.0 1
& AQJ9 IMP: 1 EW:0 & AKQT73 IMP: 12 EW:9 1SN5 200 9.0 1
s 82 & AKT9754 & Q86 A 954
v QT983 + v A4 v KQ65 v AT43
+ AK73 oT + KQ974 * T52
+ K8 S & T65 a4 » 982
&eVAN 63 SeVAN o T3
N11~~~ w7 N 6~~64 vJ987
S 11~~~ ¢J86542 S 6~~64 ¢AJ63
E ~~253 47432 E ~1~~~ &J65
W-~~255 W ~1~~~
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#1: 3 F&(148.35) #2: 5 ﬁETﬁlﬁlﬁ(MS 44) #3: 6 F1E(141.81)

4 NS: Zikess B EsREIC) -17 1 NS: &R $B{"H#(FH0) 8 3.32 16.68 | Total VP: 86.31 Rank:
EW: #hFH as=&h(BF0) -8 EW: BREIE 3G (BAC) 17 IMP:| 2 : 23 10
- _— S
# 17 » K96 2HE-2 -100 Mean: 3HW-2 100 3.0 1 # 18 s 186 3SS3 -140 Mean: 3SS3 140 60 2
v A97 3DN-150 10  3HE-2 100 3.0 1 v 94 4SS-2200 -90  3SS-1 4100 00 3
+ AKJ75 Dif: -150 NS:-2 3CS4 130 3.0 1 + Q7643 Dif: -340 NS:-3 3CE4 430 1.0 1
» Q8 IMP: -4 EW:-3 2HE-2 100 3.0 1 % Q53 IMP: -8 EW:6 4SS-2 200 -30 2
4 J3 s AT72 3HW-1 50 1.0 1 ||a A543 »2 3DN-2 200 -3.0 1
v T543 v KQ86 2HW-1 50 1.0 1 ||e QT862 I v J5 2NN-2 200 -3.0 1
+ Q6432 8 3DN-1 50 20 1||e A9 ¢ KT85
& K3 & A764 2HW2 110 3.0 3 ||a 97 &» KJT842
VBN 4 Q854 %o VABN 4 KQJI7
N11~11 vJ2 N ~~~2~ v AK73
S 11~11 +T9 S ~~~2~ ¢J2
E ~~2~~ &JT952 E 3~1~~ &A6
W~~2-~-~ W 3~1-~-~
#19 » AT54 3HE3 140 Mean: 5DXN5 550 11.0 1 ||# 20 a6 3SW4 170 Mean: 3SW4 4170 6.0 3
v K87 3NN-2100 -20  3DN5 150 50 1 v AJ98 4SW4 620 -390 2SW4 470 6.0 2
+ KJ653 Dif: 40 NS:-2 3DS3 110 40 1 « AKT76 Dif: -450 NS:-6 4SW4 620 -60 5
a5 IMP:1 EW:3 3NN-2 4100 20 2 & QJ5 IMP: -10 EW:-6
» K9876 a J2 3HE3 140 3.0 1 » AKS8432 & QT9
v JT953 v A42 3NN-3 150 -40 2 ||e K743 + v Q
* ¢ QT92 3NS-4 200 -50 2 ||e Q3 ¢ J42
& KT7 & QJ92 a6 & A98732
F*e¢VAN Q3 ooV ABN o, J75
N ~4~~~vQ6 N ~11~~ ¢T652
S ~4 ~~~ ¢ A874 S ~11~~ ¢985
E ~~1~~ &A8643 E 1~~42 &KT4
W ~~2~~ W 1~~42
# 21 » AQ9 4CN4 -130 Mean: 5CN5 600 10.0 1 # 22 4 K8532 4SS4 -420 Mean: 3NS6 490 3.0 1
v 743 4CN4 130 170  3HE-4 200 10 2 v AT7 4SS5 -450 390 4SS5 450 20 5
¢ 52 Dif: 0 NS:-1 4CN4 130 1.0 3 . Dif: 30 NS:2 4SN5 450 2.0 1
» AQJ97 IMP: 0 EW:1 3HE-3 150 1.0 1 » QT974 IMP: 1 EW:-1 4SS4 420 1.0 2
o K874 s J5 2sS3 140 1.0 1 ||a AQ7 » 96 4sS-1 50 100 1
v T965 v AQJ82 2HE-3 150 1.0 1 v 96 — v QJ843
+ Q93 ¢ J64 5CN-1 100  -7.0 1 ||e J532 ¢ QT976
& K2 » T85 » J863 » K
o VBN 4, T632 PO VAN ,JT4
N 45~42 9K N 5~~55 y K52
S 45~ 42 ¢ AKT87 S 5~~55 ¢ AK84
E ~~~~~ & 643 E ~~~~~ & A52
W~~~~~ W ~~~~~
# 23 QJ 4SE4 620 Mean: 4SE4 620 1.0 3 ||# 24 » AKJ72 5CN6 -420 Mean: 6CN6 920 80 4
v KJ652 4SE5 650 -640 4SE5 650 00 5 v 2 5CN6 -420 590 5CN6 420 50 4
+ Q9 Dif: -30 NS:0 4SE6 680 1.0 2 *8 Dif: 0 NS:-5 3NS3 400 50 1
& AQJ9 IMP: -1 EW:-1 & AKQT73 IMP: 0 EW:5 1SN5 200 9.0 1
» 82 & AKT9754 » Q86 » 954
v QT983 + v A4 v KQ65 v AT43
¢ AK73 o T ¢ KQ974 ¢ T52
& K8 S & T65 a4 » 982
o ¢VABN 463 o OVABN 4T3
N11~~~ @7 N 6~~64 »J987
S 11~~~ ¢J86542 S 6~~64 ¢ AJ63
E ~~253 #7432 E ~1~~~ &J65
W ~~255 W ~1~~~




112 £ F > A EREHL 2RR2 =

=> R3

#1: 3 F&(148.35) #2: 5 ﬁETﬁlﬁlﬁ(MS 44) #3: 6 F1E(141.81)

5 NS: B8 HtZ2.22(5H0) 20 9 NS: #ig{8 BRIZEF(FAC) 8 13.78 : 6.22 | Total VP: 143.44 Rank:
EW: 3R M2 E0) -8 EW: EI7R EBE(BAO) -2 IMP:| 28 18 2
- S
# 17 » K96 3HW-2 100 Mean: 3HW-2 100 3.0 1 # 18 s 186 3SS-1 -100 Mean: 3SS3 140 60 2
v A97 2HW-150 10  3HE-2 100 3.0 1 v 94 3583140 -90  3SS-1 400 0.0 3
+ AKJ75 Dif: 50 NS:3 3CS4 130 3.0 1 + Q7643 Dif: 240 NS:0 3CE4 430 1.0 1
» Q8 IMP: 2 EW:-1 2HE-2 100 3.0 1 * Q53 IMP: -6 EW:6 4SS-2 200 3.0 2
4 J3 s AT72 3HW-1 50 1.0 1 || A543 »2 3DN-2 200 3.0 1
v T543 v KQ86 2HW-1 50 1.0 1 ||v QT862 I v J5 2NN-2 200 3.0 1
+ Q6432 *8 3DN-1 50 20 1||e A9 ¢ KT85
& K3 & A764 2HW2 110 3.0 3 ||a 97 &» KJT842
VBN 4 Q854 %o VABN 4 KQJI7
N11~11 vJ2 N ~~~2~ v AK73
S 11~11 ¢T9 S ~~~2~ ¢J2
E ~~2~~ &JT952 E 3~1~~ &A6
W~~2~~ W 3~1~-~
#19 » AT54 3DN5 150 Mean: 5DXN5 550 11.0 1 ||# 20 a6 3SW4 -170 Mean: 3SW4 470 6.0 3
v K87 3NN-3-150 -20  3DN5 150 5.0 1 v AJ98 4SW4 620 -390 2SW4 470 6.0 2
+ KJ653 Dif: 300 NS:5 3DS3 110 40 1 « AKT76 Dif: 450 NS:6 4SW4 620 -60 5
a5 IMP: 7 EW:4 3NN-2 400 20 2 & QJ5 IMP: 10 EW:6
» K9876 a J2 3HE3 140 3.0 1 » AKS8432 & QT9
v JT953 v A42 3NN-3 450 -40 2 ||e K743 + v Q
* ¢ QT92 3NS-4 200 -50 2 ¢ Q3 ¢ J42
& KT7 & QJ92 a6 & A98732
F*e¢VAN Q3 ooV ABN o, J75
N ~4~~~vQ6 N ~11~~ ¢T652
S ~4 ~~~ ¢ A874 S ~11~~ ¢985
E ~~1~~ &A8643 E 1~~42 &KT4
W ~~2~~ W 1~~42
# 21 » AQ9 5CN5 600 Mean: 5CN5 600 10.0 1 # 22 4 K8532 4SS5 450 Mean: 3NS6 490 3.0 1
v 743 3HE-4200 170  3HE-4 200 10 2 v AT7 3NS6 490 390 4SS5 450 20 5
¢ 52 Dif: 400 NS:10 4CN4 130 1.0 3 . Dif: -40 NS:2 4SN5 450 20 1
» AQJ97 IMP: 9 EW:-1 3HE-3 150 1.0 1 » QT974 IMP: -1 EW:-3 4SS4 420 10 2
& K874 s J5 2sS3 140 1.0 1 ||a AQ7 # 96 4sS-1 50 -10.0 1
v T965 v AQJ82 2HE-3 150 1.0 1 v 96 — v QJ843
+ Q93 ¢ J64 5CN-1 100  -7.0 1 ||e J532 ¢ QT976
& K2 » T85 » J863 » K
o VBN 4, T632 PO VAN ,JT4
N 45~42 oK N 5~~55 vK52
S 45~42 ¢AKT87 S 5~~55 ¢ AK84
E ~~~~~ & 643 E ~~~~~ & A52
W~~~~~ W ~~~~~
# 23 QJ 4SE6 -680 Mean: 4SE4 620 1.0 3 ||# 24 » AKJ72 3NS3 400 Mean: 6CN6 920 80 4
v KJ652 4SE6 -680 -640  4SE5 650 0.0 5 v?2 6CN6 920 590 5CN6 420 50 4
+ Q9 Dif: 0 NS:-1 4SE6 680 1.0 2 .8 Dif: -520 NS:-5 3NS3 400 50 1
& AQJ9 IMP: 0 EWwW:1 & AKQT73 IMP: -11 EW:-8 1SN5 200 9.0 1
» 82 & AKT9754 » Q86 » 954
v QT983 + v A4 v KQ65 v AT43
¢ AK73 o T ¢ KQ974 ¢ T52
& K8 S & T65 a4 & 982
o ¢VABN 463 o OVABN 4T3
N11~~~ @7 N 6~~64 »J987
S 11~~~ ¢J86542 S 6~~64 ¢ AJ63
E ~~253 #7432 E ~1~~~ &J65
W ~~255 W ~1~~~
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112 £ F > ABERFHLE => 3
#1: 3 FUE(148.35) #2: 5 ﬂkfﬁlﬁlﬁ(l% 44) #3: 6 B1E(141.81)
NS: B B ERC) -17 2 NS: BRZ<F MigF(B80) -8 8.33 : 11.67| Total VP: 141.81 Rank:
EW: #F5E1H #-A03EE0) 8 EW: 8lfE% B5Ei5(BAC) 17 IMP:| 4 . 8 3
I
» K96 2HW2 110 Mean: 3HW-2 100 3.0 1 [[#18 » 186 2NN-2 200 Mean: 3SS3 140 60 2
v A97 2HW2 110 10  3HE-2 100 3.0 1 v 94 3CE4130 -90  3SS-1 100 0.0 3
+ AKJ75 Dif: 0 NS:-3 3Cs4 130 3.0 1 ¢ Q7643 Dif: 70 NS:-1 3CE4 4130 1.0 1
» Q8 IMP: 0 EW:3 2HE-2 100 3.0 1 » Q53 IMP: 2 EW:3 4SS-2 200 -3.0 2
» AT72 3HW-1 50 1.0 1 ||s A543 a2 3DN-2 200 -3.0 1
v KQ86 2HW-1 50 1.0 1 ||v QT862 I v J5 2NN-2 200 -3.0 1
*8 3DN-1 50 20 1 ||e A9 ¢ KT85
» A764 2HW2 110 3.0 3 || 97 &» KJT842
» Q854 %o VABN 4 KQJI7
v J2 N ~~~2~ o AK73
¢ T9 S ~~~2~ ¢J2
& JT952 E 3~1~~ &A6
W 3~1~~
» AT54 3NS-4 200 Mean: 5DXN5 550 11.0 1 ||# 20 a6 4SW4 620 Mean: 3SW4 170 6.0 3
v K87 3NS-4200 -20  3DN5 150 5.0 1 v AJ98 4SW4 620 -390 2SW4 470 6.0 2
+ KJ653 Dif: 0 NS:-5 3DS3 110 40 1 ¢ AKT76 Dif: 0 NS:-6 4SW4 620 -60 5
a5 IMP: 0 EW:5 3NN-2 4100 20 2 & QJ5 IMP: 0 EW:6
a J2 3HE3 140  -3.0 1 ||a AK8432 ~ QT9
v A42 3NN-3 150 -40 2 ||e K743 + v Q
¢ QT92 3NS-4 200 -50 2 ||e Q3 ¢ J42
» QJ92 a6 & A98732
» Q3 oo VAN 4, J75
v Q6 N ~11~~ o T652
+ A874 S ~11~~ 498
& A8643 E 1~~42 a&KT4
W 1~~42
4 AQ9 2SS3 -140 Mean: 5CN5 600 10.0 1 # 22 4 K8532 4SN5 -450 Mean: 3NS6 490 3.0 1
v 743 3HE-4-200 170  3HE-4 200 1.0 2 v AT7 4SS5 -450 390 4SS5 450 20 5
¢ 52 Dif: 60 NS:1 4CN4 130 1.0 3 . Dif: 0 NS:2 4SN5 450 2.0 1
» AQJ97 IMP: 2 EW:1 3HE-3 150 1.0 1 » QT974 IMP: 0 EW:-2 4SS4 420 1.0 2
s J5 2583 140 1.0 1 ||a AQ7 # 96 488-1 50  -10.0 1
v AQJ82 2HE-3 150 1.0 1 v 96 — v QJ843
¢ J64 5CN-1 4100 70 1 ||e J532 + QT976
& T85 » J863 » K
4 T632 PO VAN ,JT4
K N 5~~55 y K52
+ AKT87 S 5~~55 ¢ AK84
& 643 E ~~~~~ & A52
w ~~~~~
aQJ 4SE5 650 Mean: 4SE4 620 1.0 3 ||# 24 o AKJ72 6CN6 -920 Mean: 6CN6 920 8.0 4
v KJ652 4SE5 650 -640  4SE5 650 00 5 v?2 5CN6 -420 590  5CN6 420 50 4
* Q9 Dif: 0 NS:0 4SE6 680 1.0 2 ¢ 8 Dif: -500 NS:-5 3NS3 400 50 1
& AQJ9 IMP: 0 EW:0 & AKQT73 IMP: -11 EW:-8 1SN5 200 9.0 1
& AKT9754 » Q86 » 954
+ v A4 v KQ65 v AT43
o T + KQ974 ¢ T52
S » T65 a4 » 982
s 63 o OVABN 4T3 COP: 3.3
w7 N 6~~64 v J987
+ J86542 S 6~~64 ¢ AJ63
& 7432 E ~1~~~ &J65
W ~1~~-~
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#1: 3 F&(148.35) #2: 5 ﬁETﬁlﬁlﬁ(MS 44) #3: 6 F1E(141.81)

4 J3

v T543
+ Q6432
& K3

Smnz
1! =
1 1 ==
[SINRER IR |
1 l1=a=aP
1Ll =azz

# 19

K9876
JT953

SmMmnZ e<cd>
(IR I IR e
[N ]

N1 1 4
trie

trr e Z

aoall P
awl 1l 2

NS: SA825 BEH4(BEO) 11 10 NS: 81815 SXHE(BAC) 4 1242 : 7.58 Total VP: 122.13 Rank:
EW: BEedE BREVREAC) 4 EW: £ 5E sRR:%(BA0) -1 IMP:| 23 17 5
I
» K96 2HW2 -110 Mean: 3HW-2 100 3.0 1 [[#18 » 186 3SS-1-100 Mean: 3SS3 140 60 2
v A97 3CS4130 10  3HE-2 100 3.0 1 v 94 3DN-2-200 -90  3SS-1 100 0.0 3
+ AKJ75 Dif: -240 NS:-3 3CS4 130 3.0 1 ¢ Q7643 Dif: 100 NS:0 3CE4 4130 1.0 1
» Q8 IMP: -6 EW:-3 2HE-2 100 3.0 1 » Q53 IMP: 3 EW:3 4SS-2 200 -3.0 2
s AT72 3HW-1 50 1.0 1 ||s A543 a2 3DN-2 200 -3.0 1
v KQ86 2HW-1 50 1.0 1 ||v QT862 I v J5 2NN-2 200 -3.0 1
*8 3DN-1 50 20 1 (|e A9 + KT85
» A764 2HW2 110 3.0 3 || 97 &» KJT842
» Q854 % ¢ VBN 4 KQJI7
v J2 N ~~~2~ o AK73
+ T S ~~~2~ ¢J2
& JT952 E 3~1~~ &A6
W 3~1~~
» AT54 5DXN5 550 Mean: 5DXN5 550 11.0 1 ||# 20 a6 2SW4 -170 Mean: 3SW4 170 6.0 3
v K87 3NN-3-150 -20  3DN5 150 50 1 v AJ98 3SW4 -170 -390 2SW4 170 6.0 2
+ KJ653 Dif: 700 NS:11  3DS3 110 40 1 ¢ AKT76 Dif: 0 NS:6 4sw4 620 -60 5
a5 IMP: 12 EW:4  3NN-2 4100 20 2 & QJ5 IMP: 0 EW:-6
a J2 3HE3 140  -3.0 1 ||s AK8432 & QT9
v A42 3NN-3 150 -40 2 ||e K743 + v Q
¢ QT92 3NS-4 200 -50 2 ||e Q3 ¢ J42
» QJ92 a6 » A98732
» Q3 oo VAN 4, J75
v Q6 N ~11~~ o T652
+ A874 S ~11~~ 498
& A8643 E 1~~42 a&KT4
W 1~~42
4 AQ9 4CN4 130 Mean: 5CN5 600 10.0 1 # 22 4 K8532 4SS5 450 Mean: 3NS6 490 3.0 1
v 743 5CN-1-100 170 3HE-4 200 1.0 2 v AT7 4SS4.420 390 4SS5 450 20 5
¢ 52 Dif: 230 NS:-1 4CN4 130 1.0 3 . Dif: 30 NS:2 4SN5 450 2.0 1
& AQJ97 IMP: 6 EW:7 3HE-3 150 1.0 1 & QT974 IMP: 1 EW:-1 4Ss4 420 1.0 2
s J5 28S3 140 1.0 1 ||a AQ7 # 96 488-1 50  -10.0 1
v AQJ82 2HE-3 150 1.0 1 v 96 — v QJ843
¢ J64 5CN-1 100 7.0 1 ||e J532 + QT976
& T85 » J863 » K
4 1632 FOVAN o, JT4
K N 5~~55 y K52
o+ AKT87 S 5~~55 ¢ AK84
» 643 E ~~~~-~ & A52
w ~~~~~
aQJ 4SE4 -620 Mean: 4SE4 620 1.0 3 ||# 24 o AKJ72 5CN6 420 Mean: 6CN6 920 8.0 4
'KJ652 4SE5 -650 -640  4SE5 650 00 5 v?2 6CN6 920 590 5CN6 420 50 4
* Q9 Dif: 30 NS:1 4SE6 680 1.0 2 ¢ 8 Dif: -500 NS:-5 3NS3 400 50 1
& AQJ9 IMP: 1 EW:0 & AKQT73 IMP: -11 EW:-8 1SN5 200 9.0 1
& AKT9754 » Q86 » 954
+ v A4 v KQ65 v AT43
o T + KQ974 ¢ T52
S » T65 a4 » 982
s 63 oI VAN 4T3
7 N 6~~64 v J987
+ J86542 S 6~~64 ¢ AJ63
& 7432 E ~1~~~ &J65
W ~1~~-~
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#1: 3 F&(148.35) #2: 5 ﬁETﬁlﬁlﬁ(MS 44) #3: 6 F1E(141.81)

8 NS: SE4T4 Z8EEC) -13 3 NS: #IEF] 58 7%(F80) 6 5.61 14.39| Total VP: 128.63 Rank:
EW: &5 BEBEI0) -6 EW: [R<FR F{ZE(BAC) 13 IMP:| 16 28 4
- S
# 17 » K96 3HW-1 -50 Mean: 3HW-2 100 3.0 1 # 18 s 186 4SS-2 200 Mean: 3SS3 140 60 2
v A97 3HE-2-100 10  3HE-2 100 3.0 1 94 35S-1100 -90  3SS-1 4100 00 3
+ AKJ75 Dif: 50 NS:3 3CS4 130 3.0 1 + Q7643 Dif: 100 NS:0 3CE4 430 1.0 1
» Q8 IMP: 2 EW:-1 2HE-2 100 3.0 1 % Q53 IMP: 3 EW:3 4SS-2 200 -30 2
4 J3 s AT72 3HW-1 50 1.0 1 ||a A543 »2 3DN-2 200 -3.0 1
v T543 v KQ86 2HW-1 50 1.0 1 ||e QT862 I v J5 2NN-2 200 -3.0 1
+ Q6432 8 3DN-1 50 20 1||e A9 ¢ KT85
& K3 & A764 2HW2 110 3.0 3 ||a 97 &» KJT842
VBN 4 Q854 %o VABN 4 KQJI7
N11~11 vJ2 N ~~~2~ v AK73
S 11~11 +T9 S ~~~2~ ¢J2
E ~~2~~ &JT952 E 3~1~~ &A6
W~~2-~-~ W 3~1-~-~
#19 » AT54 3DS3 -110 Mean: 5DXN5 550 11.0 1 ||# 20 a6 2SW4 170 Mean: 3SW4 4170 6.0 3
v K87 3NN-2100 -20  3DN5 150 50 1 v AJ98 4SW4 620 -390 2SW4 470 6.0 2
+ KJ653 Dif: -210 NS:-2 3DS3 110 40 1 « AKT76 Dif: -450 NS:-6 4SW4 620 -60 5
a5 IMP: -5 EW:-4 3NN-2 4100 20 2 & QJ5 IMP: -10 EW:-6
» K9876 a J2 3HE3 140 3.0 1 » AKS8432 & QT9
v JT953 v A42 3NN-3 150 -40 2 ||e K743 + v Q
* ¢ QT92 3NS-4 200 -50 2 ||e Q3 ¢ J42
& KT7 & QJ92 a6 & A98732
F*e¢VAN Q3 ooV ABN o, J75
N ~4~~~vQ6 N ~11~~ ¢T652
S ~4 ~~~ ¢ A874 S ~11~~ ¢985
E ~~1~~ &A8643 E 1~~42 &KT4
W ~~2~~ W 1~~42
# 21 » AQ9 3HE-3 -150 Mean: 5CN5 600 10.0 1 # 22 4 K8532 4SS-1 50 Mean: 3NS6 490 3.0 1
v 743 2HE-3-150 170  3HE-4 200 10 2 v AT7 4SS5 -450 390 4SS5 450 20 5
¢ 52 Dif: 0 NS:-1 4CN4 130 1.0 3 . Dif: 500 NS:2 4SN5 450 20 1
» AQJ97 IMP: 0 EW:1 3HE-3 150 1.0 1 » QT974 IMP: 11 EW:10 4SS4 420 1.0 2
o K874 s J5 2sS3 140 1.0 1 ||a AQ7 » 96 4sS-1 50 100 1
v T965 v AQJ82 2HE-3 150 1.0 1 v 96 — v QJ843
+ Q93 ¢ J64 5CN-1 100  -7.0 1 ||e J532 ¢ QT976
& K2 » T85 » J863 » K
o VBN 4, T632 PO VAN ,JT4
N 45~42 9K N 5~~55 y K52
S 45~ 42 ¢ AKT87 S 5~~55 ¢ AK84
E ~~~~~ & 643 E ~~~~~ & A52
W~~~~~ W ~~~~~
# 23 QJ 4SE4 620 Mean: 4SE4 620 1.0 3 ||# 24 » AKJ72 6CN6 -920 Mean: 6CN6 920 80 4
v KJ652 4SE5 650 -640 4SE5 650 00 5 v 2 1SN5-200 590 5CN6 420 50 4
+ Q9 Dif: -30 NS:0 4SE6 680 1.0 2 *8 Dif: -720 NS:-9 3NS3 400 50 1
& AQJ9 IMP: -1 EW:-1 & AKQT73 IMP: -12 EW:-8 1SN5 200 9.0 1
» 82 & AKT9754 » Q86 » 954
v QT983 + v A4 v KQ65 v AT43
¢ AK73 o T ¢ KQ974 ¢ T52
& K8 S & T65 a4 » 982
o ¢VABN 463 o OVABN 4T3
N11~~~ @7 N 6~~64 »J987
S 11~~~ ¢J86542 S 6~~64 ¢ AJ63
E ~~253 #7432 E ~1~~~ &J65
W ~~255 W ~1~~~
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#1: 3 F&(148.35) #2: 5 ﬁETﬁlﬁlﬁ(MS 44) #3: 6 F1E(141.81)

9 NS: HfafR BEIr$RERC) 8 5 NS: E€#E # 2% (F0) 20 6.22 13.78 | Total VP: 114.44 Rank:
EW FIHR EREGEO) -20 EW: i#tiRiE MER(BAC) -8 IMP:| 18 28 7
S
# 17 . K96 3HW-2 -100 Mean: 3HW-2 100 3.0 1 # 18 s 186 3SS-1 100 Mean: 3SS3 140 60 2
v A97 2HW-1-50 10  3HE-2 100 3.0 1 94 35S3-140 -90  3SS-1 4100 00 3
+ AKJ75 Dif: -50 NS:1  3CS4 130 3.0 1 + Q7643 Dif: 240 NS:6 3CE4 430 1.0 1
» Q8 IMP: -2 EW:-3 2HE-2 100 3.0 1 * Q53 IMP: 6 EW:0 4SS-2 200 -30 2
4 J3 s AT72 3HW-1 50 1.0 1 ||a A543 »2 3DN-2 200 -3.0 1
v T543 v KQ86 2HW-1 50 1.0 1 ||e QT862 I v J5 2NN-2 200 -3.0 1
+ Q6432 8 3DN-1 50 20 1||e A9 ¢ KT85
& K3 & A764 2HW2 110 3.0 3 ||a 97 &» KJT842
VBN 4 Q854 %o VABN 4 KQJI7
N11~11 vJ2 N ~~~2~ v AK73
S 11~11 +T9 S ~~~2~ ¢J2
E ~~2~~ &JT952 E 3~1~~ &A6
W~~2-~-~ W 3~1-~-~
#19 » AT54 3DN5 -150 Mean: 5DXN5 550 11.0 1 ||# 20 a6 3SW4 170 Mean: 3SW4 4170 6.0 3
v K87 3NN-3150 -20  3DN5 150 50 1 v AJ98 4SW4 620 -390 2SW4 470 6.0 2
+ KJ653 Dif: -300 NS:-4 3DS3 110 40 1 « AKT76 Dif: -450 NS:-6 4SW4 620 -60 5
a5 IMP: -7 EW:-5 3NN-2 4100 20 2 & QJ5 IMP: -10 EW:-6
» K9876 a J2 3HE3 140 3.0 1 » AKS8432 & QT9
v JT953 v A42 3NN-3 150 -40 2 ||e K743 + v Q
* ¢ QT92 3NS-4 200 -50 2 ¢ Q3 ¢ J42
& KT7 & QJ92 a6 & A98732
F*e¢VAN Q3 ooV ABN o, J75
N ~4~~~vQ6 N ~11~~ ¢T652
S ~4~~~ ¢A874 S ~11~~ ¢985
E ~~1~~ &A8643 E 1~~42 &KT4
W ~~2~~ W 1~~42
# 21 » AQ9 5CN5 -600 Mean: 5CN5 600 10.0 1 # 22 4 K8532 4SS5 -450 Mean: 3NS6 490 3.0 1
v 743 3HE-4-200 170  3HE-4 200 10 2 v AT7 3NS6 -490 390 4SS5 450 20 5
¢ 52 Dif: -400 NS:1  4CN4 130 1.0 3 . Dif: 40 NS:3 4SN5 450 20 1
» AQJ97 IMP: -9 EW:-10 3HE-3 150 1.0 1 » QT974 IMP: 1 EW:-2 4SS4 420 1.0 2
o K874 s J5 2sS3 140 1.0 1 ||a AQ7 # 96 4sS-1 50 100 1
v T965 v AQJ82 2HE-3 150 1.0 1 v 96 — v QJ843
+ Q93 ¢ J64 5CN-1 100  -7.0 1 ||e J532 ¢ QT976
& K2 » T85 » J863 » K
o VBN 4, T632 PO VAN ,JT4
N 45~42 9K N 5~~55 y K52
S 45~ 42 ¢ AKT87 S 5~~55 ¢ AK84
E ~~~~~ & 643 E ~~~~~ & A52
W~~~~~ W ~~~~~
# 23 QJ 4SE6 680 Mean: 4SE4 620 1.0 3 ||# 24 » AKJ72 3NS3-400 Mean: 6CN6 920 80 4
v KJ652 4SE6 680 -640  4SE5 650 00 5 v 2 6CN6 -920 590 5CN6 420 50 4
+ Q9 Dif: 0 NS:-1 4SE6 680 1.0 2 *8 Dif: 520 NS:8 3NS3 400 50 1
& AQJ9 IMP: 0 EWwW:1 & AKQT73 IMP: 11 EW:5 1SN5 200 9.0 1
» 82 & AKT9754 » Q86 » 954
v QT983 + v A4 v KQ65 v AT43
¢ AK73 o T ¢ KQ974 ¢ T52
& K8 S & T65 a4 » 982
o ¢VABN 463 o OVABN 4T3
N11~~~ @7 N 6~~64 »J987
S 11~~~ ¢J86542 S 6~~64 ¢ AJ63
E ~~253 #7432 E ~1~~~ &J65
W ~~255 W ~1~~~




112 £ F > A EREHL 2RR2 =

=> R3

10
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N1 1 4
trie

trr e Z

NS: $1E38 =UEEHC) 4 7 NS: 21585 Bt 4(F10) 11 7.58 12.42| Total VP: 91.42 Rank:
EW: E 58 FREEHEHO) -11 EW: [RE#% EREIS(BAC) -4 IMP:| 17 23 9
I
» K96 2HW2 110 Mean: 3HW-2 100 3.0 1 [[#18 » 186 3SS-1100 Mean: 3SS3 140 60 2
v A97 3CS4-130 10  3HE-2 100 3.0 1 94 3DN-2200 -90  3SS-1 100 0.0 3
+ AKJ75 Dif: 240 NS:3 3CS4 130 3.0 1 ¢ Q7643 Dif: -100 NS:-3 3CE4 4130 1.0 1
» Q8 IMP: 6 EW:3 2HE-2 100 3.0 1 » Q53 IMP: -3 EW:0 4SS-2 200 -3.0 2
» AT72 3HW-1 50 1.0 1 ||s A543 a2 3DN-2 200 -3.0 1
v KQ86 2HW-1 50 1.0 1 ||v QT862 I v J5 2NN-2 200 -3.0 1
*8 3DN-1 50 20 1 ||e A9 ¢ KT85
& A764 2HW2 110 3.0 3 ||a 97 &» KJT842
» Q854 % ¢ VBN 4 KQJI7
v J2 N ~~~2~ o AK73
+ T S ~~~2~ ¢J2
& JT952 E 3~1~~ &A6
W 3~1~~
» AT54 5DXN5 -550 Mean: 5DXN5 550 11.0 1 ||# 20 a6 2SW4 170 Mean: 3SW4 170 6.0 3
v K87 3NN-3150 -20  3DN5 150 5.0 1 v AJ98 3SW4170 -390 2SW4 470 6.0 2
+ KJ653 Dif: -700 NS:-4 3DS3 110 40 1 ¢ AKT76 Dif: 0 NS:6 4sw4 620 -60 5
a5 IMP: -12 EW:-11 3NN-2 4100 20 2 & QJ5 IMP: 0 EW:-6
a J2 3HE3 140  -3.0 1 ||a AK8432 & QT9
v A42 3NN-3 150 -40 2 ||e K743 + v Q
¢ QT92 3NS-4 200 -50 2 ||e Q3 ¢ J42
» QJ92 a6 » A98732
» Q3 oo VAN 4, J75
v Q6 N ~11~~ o T652
+ A874 S ~11~~ 498
& A8643 E 1~~42 a&KT4
W 1~~42
4 AQ9 4CN4 -130 Mean: 5CN5 600 10.0 1 # 22 4 K8532 4SS5 -450 Mean: 3NS6 490 3.0 1
v 743 5CN-1100 170  3HE-4 200 1.0 2 v AT7 4SS4 -420 390 4SS5 450 20 5
¢ 52 Dif: -230 NS:-7 4CN4 130 1.0 3 . Dif: -30 NS:1  4SN5 450 2.0 1
& AQJ97 IMP: -6 EW:1 3HE-3 150 1.0 1 » QT974 IMP: -1 EW:-2 4SS4 420 1.0 2
s J5 28S3 140 1.0 1 ||a AQ7 # 96 488-1 50  -10.0 1
v AQJ82 2HE-3 150 1.0 1 v 96 — v QJ843
¢ J64 5CN-1 4100 70 1 ||e J532 + QT976
& T85 » J863 » K
4 1632 FOVAN o, JT4
K N 5~~55 y K52
o+ AKT87 S 5~~55 ¢ AK84
» 643 E ~~~~-~ & A52
w ~~~~~
aQJ 4SE4 620 Mean: 4SE4 620 1.0 3 ||# 24 o AKJ72 5CN6 -420 Mean: 6CN6 920 8.0 4
v KJ652 4SE5 650 -640  4SE5 650 00 5 v?2 6CN6 -920 590  5CN6 420 50 4
* Q9 Dif: -30 NS:0 4SE6 680 1.0 2 ¢ 8 Dif: 500 NS:8 3NS3 400 50 1
& AQJ9 IMP: -1 EW:-1 & AKQT73 IMP: 11 EW:5 1SN5 200 9.0 1
& AKT9754 » Q86 » 954
+ v A4 v KQ65 v AT43
o T + KQ974 ¢ T52
S » T65 a4 » 982
s 63 oI VAN 4T3
w7 N 6~~64 v J987
+ J86542 S 6~~64 ¢ AJ63
& 7432 E ~1~~~ &J65
W ~1~~-~




